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a"'=1 (mod n)

ooboooooon
n—1

az =41 (mod n)

gooooooooodbon—-10000000000000000O00OODOODOODOODOODOODODOD
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00 1a*=1<=a==+1 (modp)

0000<«=00000000000000= 000000000000
O0a*>=100a#+1l (modp)000000 «0000000000O0a*=100

a>—=1=0
(a+1D(a—1)=0
(a+1)(a—1)=kp

pO000D000O pla+1000 ple—10000000000OOODOODOO ooobooon
goooboobooobooboobboobuoobboooboobbooboobboobo

a>=1<=a==+1 (modn)
gooboboboboooooobooboboboboooo
a®>=1 (mod 15)

gogd
a==+1,+4 (mod 15)

0400000000000 0O0OO0OO0OOOOOOODOOODOOOOOOOOg
P =1=p"=+1 (modn)

goobooboboboooooon
264 =1 (mod 645)

ooooo
2322 = 959  (mod 645)
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n—1

272 =41 (mod n) (1)
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527 = 25011 (mod 29341)
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0000000000000 00D000DO00DO-00000000 (Miller-Rabin primality test)

0000000000000 0000000D000000 (Strong pseudoprime) 00000000 20
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2146646 = 1 (mod 46657)
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27+ =1 (mod 46657)
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275" = 39898  (mod 75361)
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#prompt
DIM CELLS(100000) As Long
dim Mi As Long,n as (Qword,S as long, i as long, Pii as long,PIii as long,Piii as long
dim p as Qword,pii as long ,a as Qword,nn as long,nnend as long
Open "2000000000O .txt" For Output As #1
LET CELLS(1) = 2
LET Mi =1
FOR n = 3 TO 1000000 step 2
LET S = Sqr(n)
1Ton-1’000000n-100000000000000O00O00DOODOOOOO
LET p = CELLS(i)
If p> S Then GoTo 5 'n 0000000000 ODOOOODOODODLOOOOOD n0OO
If n MOD p = 0 Then GoTo 10 U0 0O00OD0OODOOOOOOOOODOODO
Next i
5 ’PRINT n,
LET Mi =Mi +1’000000000000000D00D0ODOO if0b0Ob00O0OOoboOon
LET CELLS(Mi) = n
goto 20

For i

10 ’print n
if p<>2 then
nnend=(n-1)/2 *0000000000COOO
15 a=1
FOR nn = 1 TO nnend
LETa=a*2mod n’ 000000000000 0OO00ODOODOODOOOOO
NEXT nn
IF a =1 then
if nnend mod 2 =0 then
nnend =nnend/2
goto 15
Else
print n
print #1,n
end if
End If
if a= n-1 then
print n
print #1,n
end if
end if

20 Next n
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486737 489997 514447 580337 635401 647089 741751 800605 818201 838861 873181 877099 916327 976873
983401
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[1] O Wolfram MathworldO <http://mathworld.wolfram.com/>
2 000000000 <http://ja.wikipedia.org/wiki/>
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